& %y 7hx o @57} obd 2L

@ 729] 017} vom, A2 Aol dem 91 ARG ] Holt
yem? o]t}

F 7ol 200 Sh= =3 x 7HO] ZH2 y o]t

BAT

©® ® © O
i
o)
)
o,
=
rO
o
rr
<
O,
o



500%] Aol A x & AUE W H2 F 5
y o FAAZ?

it

y&olzt & o, x <

@ y =500+ x @ y=500-x ® y=500xx

@ y =500+ x ® y=50=+x



= f(x) = 3x -1 o tiste] tha F Hsegkol &

S
=]

Mo

AL

@ f(0)=0 @f(%):—l ® f(1)=2
@ f(-1)=-2 ® f(2)=6



il

>

YA

A(2,0), B(g,-4), €(0,-3), D(3,0)



=z |

Bl
okl

B
B
rr

@ (4,
@ (3,

H 91e] A A(-4,-3)°fl dote] xFofl thste] A A
?

3) @ (-4,3) ® (4,-3)

4) ® (-4,-3)



e s
Fu
-- -3

< “ ©)
lUu <t
=
s
!
—_
_w_ on
B
M
Rl
& &
e
NS
HE
-
op X
a1

.

ul



= 4
7. O % @4y = ;x| 223 9] Hol ofd Ag nEw?

D (=3,4) @ (. 3) ® (0,0)
@ (3,-4) ® (-2,%)






3 x 2 gtol-2,

©
=]

o}

9

YA

| O__Il 2



g g4olt,
® v afZ=H (6, 2) &
Attt
@ F 2= = 4 (6, 2) oA
kot
® 9,0, @ 06,0,
@ ©, 6,0 ON®NG)

yl\

® 9,6,0



